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(b)

First Year
ENGLISH PAPER —1

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Read the following passage and answer the questions that follow.

Naval architects never claim that a ship in unsinkable, but the sinking of the
passenger-and-car ferry Estonia in the Baltic, surely should have never
happened. It was well designed and carefully maintained. It carried the
proper number of lifeboats. It had been thoroughly inspected the day of its
fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold,
stormy night. Of those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers could get them.
The final death toll amounted to 912 souls.

(1) Where did the ferry sink?

(11) Why should the accident never have happened?

(11) What was the effect of the accident?

(iv) What was the passenger-and-care ferry called?

(v)  Give the synonym for, ‘fatal’.

Read the following passage and answer by choosing the right option :

Erosion of America’s farmland by wind and water has been a problem since
settlers first put the prairies and grassland under the plow in the 19tk
century. By the 1930’s, more than 282 million acres of farmland were
damaged by erosion. After 40 years of conservation efforts, soil erosion has
accelerated due to new demands placed on the land by heavy crop production.
In the years ahead, soil erosion and the pollution problems it causes are
likely to replace petroleum scarcity as the nation’s most critical natural
resource problem.

(1) As we understand from reading, soil erosion in America
(1) causes humans to place more demands on land
(2) 1s worse than it was in the 19th century
(3) happens so slowly that it is hardly noticed
(4) 1s the most critical problem that the nation faces
(1) Erosion of Farmland’s happens by
(1) Putting it under the plow
(2) Pollution
(3) Wind and water

(4) Placing new demands on the land



2. (a)

(b)

©

(d)

(111) The author points out in the passage that erosion in America
(1) has become severe and forced people to abandon their settlements
(2) occurs only in areas with no vegetation
(3) can become a more serious problem in the future
(4) was on the decline before 1930’s
(iv) The antonym for “accelerate” is
(1) Rapid
(2) Slow down
(3) Stagnant
(4) Stop
(v) It is pointed out in reading that in America
(1) petroleum is causing heavy soil erosion and pollution problems
(2) there are many ways to reduce erosion
(3) water is undoubtedly the largest cause of erosion

(4) soil erosion has been hastened due to overuse of farming lands.

Correct the following sentences :

(1) The small child does whatever his father was done

(11) The man to who I sold my house was a cheat

(111) Where is the shoes?

(iv) A laptop was very sophisticated and costly

(v) They were all shocked at his failure in the competition.
Rewrite as directed :

(1) They left for the airport. (Add a question tag)

(11) Jaya ordered the food. (Change the voice)

(1) He said, I did not lie. (Change into indirect speech)

(iv) Inspite of his hard work, the body didn't succeed. (Change into
compound sentence)

(v)  Susan will help you solve the problem. (Change into negative sentence)
Change into direct speech :

(1 Raju told me he was going to the barber

(1) Preethi asked me to pass the salt

Fill in the blanks with correct form of verbs given in the brackets :

(1) He wants Mary ————— (do) the dishes.
(11) Would you mind ——— (open) the window, please?
(1) He usually —————— (do) his homework in his room.

(iv) Let me ————— (leave) the classroom please.



(v) John ——— (watch) TV every night.
(e) Fill in the blanks with suitable words given in the end.

(1) She ——— the job offer.

(11) The dog ran ———— the yard.

(111) He ————— about his mistake in that test.

(iv) She ————— and walked away.

(v) John ——— his friends for a while and then went home.

(velled, visited, accepted, thought, across)
(  Rewrite the following set of jumbled sentences to make a coherent passage.
(1) He could have practiced law and spent a comfortable life.
(11) He was born on 224 October, 1869
(1) He choose to fight the British, for independence.

(iv) Mohandas Karam Chand Gandhi, popularly known as Mahatma
Gandhi.

(v) He was a lawyer by profession.

(g) Write three exchanges of dialogue between a person who wants to book a
reservation at a hotel and the receptionist there.

(h) Write a paragraph using the following hints.

Good for young and old — refresh mind — makes us smart and active — light
exercise — see nature — birds fly — flowers bloom — ponds — canals — full of
water — running water — sweet music — regular walk — enjoy most.

(1)  Write in about 100 words on any ONE of the following.
(1) The effects of peer pressure.
(11) The downside of smart phones.

(1) Growing number of people shopping online.

3. Write an essay on following :
(a) Justify the little, “A sense of the Future”.
(b) Bring out the humour in George Bernard Shaw’s, “Dilly at the Dentists”.
(¢) Summarize the story of “The Topaz Cufflinks Mystery”.
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1. Write short notes on the following :

(a)

Rose”.
(b)
(©
(d)
©)

Write about the comparison of the rose to the lady in the poem “Go Lovely

What is the central theme of “On killing a Tree”?
Summarize the poem, “The Express”.
How is the importance of nature brought out in the poem, “T'ables Turned”?

Justify the title, “Laugh and Be Merry”.

2. Write an essay on the following :

(a)
(b)
()

3. (a)

(b)

Explain the irony in Karel Capale’s, “The Fortune Teller”.
Bring out the appropriateness of the title, “God sees the Truth but waits”.
How is Srijut the victim in “The Gold Watch”?

Explain the following :

(1 Yes I did, but that “be in London. She is going to stay with me, and
then live with the same family”.

(1) You ask, what is our aim? I can answer in one word. It is victory.

(1) ‘T've seen wild cats in trees at night and their eyes shine’.

Explain the following :

(1 Up!Up! My friend and clear your looks why all this toil and trouble.

(1) Allis, if T have grace to use it so. An ever in my hard task Master’s eye.
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1. (a) Write the significance of the Ramayana in 10 lines.
IARIVRITAARVHATEIpeY G2T aTaTiol forsrd ?
(b) Explain the qualities of scholars as described by Noble Vidura.

Rigefel sfrTdienfar afoda steronar Rigoya 2

2.  (a) Write the words uttered by celestial bachelor with Parvathi who was
performing Penance.

AgeTRed] arddt ufdr i aaenfer forzra 2

(b) Explain the help rendered by Rajavahana to Brahmin.
TG (&GSl (A21Gad ?
3. (a) Describe the six seasons as prescribed in the lesson.

UTGIHTSHORICY YEe] Jurad 2

(b) Write the story of intelligent Rabbit.

HRIGR212IS: 3l BT ferzrd 2
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1.  Answer the following with reference to context.

o IR |

(a) T GRATCHIN HISTIoG T |

(b)  sTepIofta Toga: |

(© forfegarfer o Aad

@) T e etz T

(e) oRRATE JEHATERH|

(f)  TFIr: Bt 1§ Yeleiaa faerd |

(@) 3T Profol GIPADCH! TATHI

(h)  govg {3 Jrofret: 7wl
2. Translate into English or Telugu.

STCEITSTRAT AT JTFTHTSII aT 3efdTed |

(@) 3T Pxd 1 ot @fe fBafxT T
BH TRHA G AATGHAGITIH |

(b)  JATcHeN IS eAteafiafian|
AR AP e eicdd ||

) fordaa werdfer fatfecarfer of Jad |
3TTTRTab: STgGeITeT U USAT&To | |

(d) TS ARYITET ATe: FdBHOTH|



(a)

(b)

()

(d)

SIS HSITON 5R: Ufved SeId ||

Write the forms of in the other numbers of given persons :

TR ETq F/TToT forzra|

(@)  oaf (i) oI
(iii) forsgey (v) g
(v) @ (vi) 3mGa
(vii) dogd (viii) 31|
Decline as per the case ending.
TATGHITRY 2TeGRITIOT ferard|

Q) I (i) @
(iii) el Gv) foaf
(v) ordl (vi) AR
(vii) Afar: (viii) oT&|

Combine Sandhis.
Ao |

(i) Y+ IE
(i) ©Tq + 3T
(v) ddq+d

(vii) §C + 7T
Dissolve.

faergaraenfer forzral
G)  TcIeH
(i) 3[cTafer:

(v) 3rept:

(vil) JDYSITE:

(i) g + 3I&:
(v) al+ 3/
(vi) T + et
(viii) 3 + 3Fect: |

(i) Ydem:
(iv) TR
(vi) ~stelicTe
(viii) TLOTH
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BUSINESS ECONOMICS
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Positive Economics.

BTETEYS 9FT 0.

Types of demand.

&35°0& Sseen.

Exceptions of law of diminishing marginal utility.

§65°2708 (SBIresd AT B0 W0, MRITFN0He..

Price discrimination.

S8 D%,

Kinked demand curve.

808 &55°0& B.

Real wages.

T0DE JBToRD.

Break even analysis.

[BE-&edS JFHeo.

Balance of payments.

290H© F0..

Define economics and discuss its scope and significance.



10.

11.

12.

eFTFRY) DED0D, 0 AE); HOE HoBASY PBYPgBR IHBoBok.

What is elasticity of demand? Explain the various types of elasticity of demand.

B57°08 TS 050 BRI B2 VG 8570 GHIT08 TE VEEER HBod dHBoBvod.

Explain price and output determination in perfect competition.

IBIyY D8e3S° &8 D085 EHD DB0V0DE0 K80 IHB0H0E.
€ OJ -0 £

Critically examine the Ricardian theory of rent.

8?56: ge0¥ ?ocgo@%& DI SO DHBOYHH.
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BUSINESS ECONOMICS
MAXIMUM MARKS : 30
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. Explain the comparative cost theory of international trade.

©OBTEAD g BOOTEYE H50% ?ocgow&)& DHBOHIW.

Describe the role of WTO in promoting international trade.

@08 TR TDNAS® WTO (B30 9580330,

Explain the cost-output relationship in the short-run and long-run.

R5e) 08050 BES S &)@ -H50% P00 BoS0d.

Explain the law of equi-marginal utility.

SDIR0B (BT BIBERD ISBOHH.

Define business cycles. Explain different phases of a business cycle.

TGS B[SO DEID0HOE. g0 JEP0S* DI 55080 DHBOIHIW.

What is meant by National Income? Explain the various concepts associated with
it.

2PHAL0 E3TPA0 I D2 DAL 2PAAL E3TPAK0 EPHIOP) DHBoVOE.
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ASSIGNMENT 1
B.Com. DEGREE EXAMINATION, DECEMBER 2020.
First Year
FINANCIAL ACCOUNTING -1

MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

Book keeping and Accounting
205 890f So8askw 8% 0e30n

Suspense Account.
L9T°0e8) groT°

Bank overdraft
NSRS [

Causes of Depreciation
SEIHEO SeEeTeen

Types of Reserves
Besthge 8sPen

Parties in bills of exchange
DAAD DS F=Bew

Joint Bank Account
(%;i)é& 208 e

Classification of Accounts.
PeT°O éﬁééea.

Explain the different types of subsidiary books and it's advantages.

Arun

(DBCO 12)

DA E5°BD JIPADHE VePod JH807, T0e3 H0 EOR DA resTrod 180D DHBoB0GE?

Journalise the following Transactions :

2010 Rs.
Oct 1| Prem commenced business with 45,000
4| Goods purchased from Prakash 6,000
7| Goods purchased for cash 17,000
9| Cash paid into bank 5,000
11| Paid to "M" on account 2,000
25 | Paid for salary 25
26 | Advertisement paid 100
30 | Withdraw from bank for personal use 400
31| Paid salary by cheque 350
31| Received commission 500
31| Cash paid to Prakash 1000




11.

12.

5808 BgIFTOH DepHEIeL Fahod

201 Rs.
ea%jgm 1] (20 TR0 [@r5080DS S0TrNo. 458,000
4| 15570 200 F0RTen DD DD 6,000
7| 3K TR0 IS SHH 17,000
9 | ergoReS” 30D JKH 5,000
11 "M" & gree oegoe 38058 2,000
25 | Bzren 3oy 25
26 | 9560505 30y 100
30 | Rromrd8 23RS’ DV K 400
31| 3%, oo Bere 3YoY 350
31| S LB 500
31| [$5°05 DoDS HKKed 1000

Explain the need for bank reconciliation statement.
2775050 DO DBIOH Z)ég Do), @BIo°R DHBoBok.

Arun

From the following Ledger balance of Ashok. Prepare trial balance as on 31-3-

2013.
Rs.
Capital 1,00,000
Plant and Machinery 78,000
Furniture 2,000
Purchases 60,000
Sales 1,32,000
Purchase returns 800
Sales returns 1,000
Opening stock 35,000
Discount received 900
Discount allowed 425
Sundry debtors 50,000
Sundry creditors 30,000
Salaries 7,600
Manufacturing wages 10,000
Carriage outwards 1,200
Provision for debenture debts 525
Rent, Rates and Taxes 10,000
Advertisements 2,500
Cash in hand 6,500
88 BIODH 2DYS 5T Do D0 31.3.2013 7763 08 @o¥er SATHIAHOE.
&8o~.

S0 1,00,000
aR0ew, adoeen 78,000
;”)8&1:55 2,000

E R 60,000

(DBCO 12)



8.
@;Soéven 1,32,000
R0 e TeS0e 800
@m&sw PV ISUIOV) 1,000
5085 DS 35,000
DY G, 085 900
DY GR7,065 425
QY 2weaidgen 50,000
WYY 2VEIT S 30,000
Daren 7,600
BT SdTeen 10,000
@;Soéét’.g) Bee 1,200
ROFOITHE w80 T YW 525
o3, Ben & SSoyen 10,000
[S5eoden 2,500
38S° JKe Do 6,500

Arun

(DBCO 12)
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FINANCIAL ACCOUNTING -1
MAXIMUM MARKS : 30
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1. What is Reserve and Provision? Explain various types of Reserves and Provisions in

detail?
Bastg S0Bak bc‘beao VXTI ? DY 8570 Bastden Bk bmo)&g 1080 HJIorr
DS5BoS0&.
2. From the following particulars, ascertain in bank balance as per cash book of
Swamy as at 31st March 2012.
(a) Credit balance as per Pass book as on 31.3.2012 Rs.2,500
(b) Bank charges of Rs.60 had not been entered in cash book
(¢) Out of the cheques Rs.3,500 paid into the bank, a cheque of Rs. 1,000 was not
yet credited by the banker.
(d) Out of the cheques issued for Rs.4,500. Cheques of Rs.3,800 only were
presented for payments.
(e) A dividend of Rs.400 was collected by the banker directly but not entered in
the Cash book.
® A cheque of Rs.600 had been dishonoured prior 31.3.2012 but no entry was
made in the Cash book.
83808 $55:580°08" 31 H°6y 2012 5 AR SHED YO (9580 Degdd LRS00,
() rRa0E B350 3G dog 31.3.2012 S 872,500
(b) 258 TBen & 60 IKL HYEoS® AT TS
() JdEyen 8. 3,500 Dend Sod a7°50§>e56 SoDHre 83°.1,000 dend Ko LUN
25008 B 580,
(d) &8 D3 D0 85°. 4,500 o 8. 3,800 © DE0%H G 3o wBRo8.
(&) nasS® B S @i oS GIBoS 8. 400 KK HILoS SITEd
5°S8K.
B 8. 600 05 ), @T°E8es 08I8. 5°0), 31.3.2012 585 5K @ééoe’iﬂ S0

oS,

3. Ramesh and Suresh join together to construct a building for Rs.25,00,000 sharing
profits and losses equally. They opened a joint bank A/c. Each contributing
Rs.5,00,000. They incurred the following costs.

Raw materials purchased — 10,00,000
Wages — 2,50,000
Materials, supplied by Ramesh — 175,000

Arun

4 (DBCO 12)



Arun

Materials supplied by Suresh — 1,00,000

Suresh took over the stock of material valued Rs.50,000. The contract was
completed and all the money was received. Prepare joint venture A/c, joint bank
A/c and personal accounts.

B 0B Bhew PSR Ao K. 25,00,000 o adyoso
BEENDTNED. T SPFTPOR JSITHOTT HoWH0LT. TG GG e e B,
TS 2,878, 87, 5,00,000 w50 D780, 378 PEye0.

;m&bmo;o o 50Rten — 10,00,000
Seseen - 2,50,000
802 Do IV SowdSergren — 175,000
R0BR 93000 IS B0& Seegren — 1,00,000

oY JeB5 TR (58900 ©0838. WARDS S5y AR LB 83°.50,000 0
@éoé)m&éo. D IPSPTew ém&&ay@, e,mé& 2505 e Bk ;Saﬁﬁé PPTCOR
SIS DoDoE.

4. What is meant by final accounts? What are the accounts prepared in final
accounts? Explain.

S00R0) BEen eITID? DR 8%,0¢° $oP8TD graren 2 DBSBoSod.

5.  Mr. Raj of chennai consigned 100 air conditioners to Mr.Rao of Delhi to be sold on
consignment basis at Rs.32,000 per air conditioners. Mr. Raj incurred the following
expenses Packing and forwarding charges Rs.10,000, insurance Rs.20,000. Mr. Rao
received the consignment and sold 82 air conditioners of Rs.40,000 each and
incurred the expenses freight, charges Rs.18,000, insurance of warehouse Rs.6,000,
Sales man salary Rs.36,000. Ascertain the value of consignment stock and show
accounts of Raju.

3PS ooF S oSO 100 owd FodBSEH 287, E,mR  devs &°.32,000,
5580t eBREo Bo oD, HoIe3 AWE0 T°E DR Do HuBALL Hoe3PEED §3°.10,000, B
DHT0D EDPO0ED ALEd Dewsd H0BAN T°& graesy @eahod.

6. On 1.1.2015 XYZ and Co. Ltd purchased a machine for Rs.1,00,000 and Estimated
its life is
5 years. On 1-4-2016 another machine is purchased for Rs.1,50,000 and estimated
its life also 5 years. On 31-12-17 the first machine become obsolete and sold for
Rs.60,000. They close the books on 31st December every year. Prepare machinery
account for the year ended
31st December 2018. Assuming the depreciation was charged on fixed installment
method.

1.1.2015 & XYZ 08 §°. dW&E 2.8 aho@-R) 85°.1,00,000 0% §0f%en S, o
2DSs°00

5 D0l1eD TP @0S° BATD. 1.4.2016 S 0678 aboEedy &r. 1,50,000 0% S0 e 3D,
ol BIB0 K¢ 5 Holleon @odTe e, 31.12.2017 S I0ed ohoo DS
o900 A 83°.60,000 0K eQRT. T (¥ HoIB B0 Go2% 31 I grmren
BATT JETONT SEB (I5°80 SEIDEOKH e B, 31.12.2018 & eodsochy
BOIBYTI8 ADHOBO FrEEH SoIrEd Bohod.

5 (DBCO 12)
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ASSIGNMENT 1

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
First Year

INDUSTRIAL ORGANISATION AND MANAGEMENT
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Statement in lieu of prospectus.
(DBEIRO5 HBBHADH Jo.
Unlimited liability.

29380 ameearc‘,ﬁ?sé.

Chartered company.

85 owd.
s

Privatization.

EEOECE

Partnership deed.
a)“K@vogéoé 2a)OD.

Capital market.
DTG éj‘@beg.

Functions of management.

DEGTPE G0,

Short term finance.

R5)SOE DB,

Examine the interrelationship of industry, commerce and trade.

S8 BD0, me%aszgo, $85°0 D055 W0BEI)0L0F O ééépéo&.

Define joint stock company. Explain its advantages and disadvantages.



11.

12.

2P00085 R S0 I IW? T (HBITETRD, ST BOVHHN.

Write various types of industries.

3800 $855es 80D s,

Explain the problems in small scale industries.

DY) BES® SB[E00S"D AB0IFOR0 DHB0WID.

¢DBCO 13)
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ASSIGNMENT 2

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
First Year

INDUSTRIAL ORGANISATION AND MANAGEMENT
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

. State the merits and demerits of sole proprietorship.

0% TG0 BIY); S RO DE7BH0.

Define management. What is significance of management in business?

ROGTEI DEGDOD, o578 X)ogfﬁ"s TR (o0 D037

What is the role of planning to the management?

IE3065 (DTGTEd) DO (HETDE Bk, (B30 IHBoBIB.

Discuss the various types of partners and their rights and duties in partnership
firm.

gHRQOS” E5°0R0 180D T8 TKI,0R, WEBOR &8 IR S0RS” BOAHBADOE.

Write about the role of the MNC's in industrial development.

B85 @a@be)gé’sfo TOY ePBA éoé@ B DHBoWRDW.

Explain the meaning of "Line and staff' systems of organization. What are its
merits and demerits?

BS-o DFIPR0 DEZDOY, (BT, SRR K78 BLOYHHD.
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ASSIGNMENT 1
B.Com. DEGREE EXAMINATION, DECEMBER 2020.
First Year
QUANTITATIVE TECHNIQUES -1

MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Explain the sources of secondary data

aséaow BERo¥o eErTre 80Y0s.

Questionaire

@8"&&5@

Any three merits of arithmetic mean

©OEREHENO By, DPT° S [HATHIeD

Demerits of Range

Ubé?ﬁ O?l.l)gb Staren

Differences between correlation and regression

RDTPR00EHN 08030 (DN Q0G5 IgTogIe0

Probable error

RDogTSgE &350

Set and sub

set

P BN GBI

Types of matrices

30| HES” Sseen

Compute mode from the following:

Income: 0-100 | 100-200 | 200-300 | 300-400 | 400-500 | 500-600
Frequency: 8 14 13 15 7 3
1808 &sodo S0 erIVTE0 ERHos.

esroLo | 0-100 | 100-200 | 200-300 | 300-400 | 400-500 | 500-600
De8)Rg0 8 14 13 15 7 3

Find out Median from the data given below:

Arun

(DBCO 14)



Marks (More than):| 0

10

20

30

40

50

Students: 50

46

40

20

10

Bo8 &S@rodo 0D i S0 S0l

Art,e0 ($08 d&3) [ 0

10

20

30

40

50

3)0‘“23%)03 50

46

40

20

10

11. Define statistics and state the limitations of it.

Kesc08 8‘@“?0& «‘06033)05), O"’K)é)é& S8 @Q)QO&.

Arun

12. Find the regression line of y on x for the following data and estimate y when x = 9.

x:| 18|26 |28 | 31| 25

19

35

y:| 11|16 |19 |17 | 14

11

24

808 &Smrodo oD x WS y (HERSS IWEBeTD) o, x Devd 9 WONIIPE ¥

FAISVINENG]
®0IT° VaHoB.

x:| 18|26 |28 | 31| 25

19

35

11|16 |19| 17| 14

11

24

(DBCO 14)



ASSIGNMENT 2

Arun

(DBCO 14)

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
First Year
QUANTITATIVE TECHNIQUES -1

MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

1. What are the advantages and dis-advantages of graphic representation of data?

S0 B, D DBV T $I°500S Ko (HAIresare), S o) 80)08?

Explain the following:

(1) Harmonic Mean

(i11) Sets

180873 DHBoS0&

@) 5 Soggon0
(i) SMesoen

(a) Combined mean and

(b) Combined standard deviation

(ii)
(iv)

(ii)
(@iv)

Factory A | Factory B

No. of workers

100

150

Mean

45

55

Standard deviation

7

12

B0 adYS @ozsgé A,B 0% 3085 3357808
(a)  &Hpd eOoEHEHVD, B
(b)  &ipd PrRIredE DTOIZVR EDFSod

@négé A

3"558 B

[FERL 50y

100

150

208050300

45

55

PeRIE3E DSOSE0

7

12

Calculate rank correlation from the following:

x:| 48

33

40

9

16 | 16

65|24 |16

57

y:| 13

13

24

6

15| 4

2009 1 6

19

Rank correlation

Skewness

§%3 JsPH00088 KHeaso
63_35@05&)\)

From the data relating to two factories A and B find the following:

1808 BBro¥o K0 §%3 HIPH0w0E HEEo ER00G :

3

(DBCO 14)



x:| 48

33

40

9

16

16

65

24

16

57

y:| 13

13

24

6

15

4

20

9

6

19

Arun

In a class of 50 students appearing for an examination of ICWA, from a centre, 20
failed in accounts, 21 failed in mathematics and 27 failed in costing, 10 failed both
in accounts and costing, 13 failed both in mathematics and costing and 7 failed
both in accounts and mathematics. If 4 failed in all the three, then find the number

of students who passed in all the three subjects.

2.8 $5KBS® 50 3008 deegiyen ICWA $05p S8 et WAIRD. & Dowd Hod 20
508 505, 21 5008 K30 D BA 27 $08 5°YoRS” Hawd eowTw. 10
3008 &9?60650) 08030 S"?&)oﬁ Bo&ot3e' D, 13 008 Kedeso SHB8aiw sf’goﬁ Bo&oe3
5080 7 208 ©98°0edy DBAD KBB0S® Do 0T, SerHtd Dergegen Sored
PPHOS Dowd ©ond? Jod08 ghen S SPHES” &8YE rGoE’
ERS08.

Find the inverse of the matrix [

30| B3° DS*50B0 E0RH0S

1 8
P27
12 5 9
3 8
2 7
12 5 9

3
2

(DBCO 14)



